
www.roztocze.eu Accessories  |

In
fo

1
  |

  L
o

c
k

in
g

 s
ys

te
m

s
3

 | 
 H

in
g

e
s

4
 | 

 S
c

re
w

 c
la

m
p

s
5

 | 
 A

c
c

e
s

s
o

ri
e

s
6

 | 
 G

a
s

k
e

ti
n

g
 p

ro
fi

le
s

7
 | 

 C
u

s
to

m
 p

ro
d

u
c

ts
In

d
e

x
2

 | 
 L

o
c

k
s

 | 
L

a
tc

h
e

s

5-2

4.501.001 ZAMAK 5

 13,40 

A

A

 3
0

,2
0

 

 8,60 

 2,40 

 6,20 

 1
0

 

 9
,2

1
  46° 

 10 

 M
8

 

 1
8

,7
0

 

 4
,8

0
 

A-A

B

4

4.500.001.02

4.500.001.XY

4.500.001.03

Zamak 5

Zamak 5

RAL 7035*

B

28

6,5

8

1
1

2
2

,5

28

2
8

01

11

-

-

Connector 4.500, installation nut 4.501

XY

* possibility to make a different color 

CROSS-SECTION B-B

FINISH MATERIALCATALOGUE NO.

Use and installation

COMPONENTS

Connector

Nut M6

Screw M6x12 DIN 7380 Steel zinc plated

No

Nut M6 Screw M6x12 DIN 7380

CATALOGUE NO. MATERIAL

Installation nut


